DAVIDSON’S EXPANDED TRUTH THEORETIC SEMANTICS

PROBLEM

Davidson’s analysis of meaning in terms of truth conditions doesn’t seem to apply to non-declarative sentences, such as the ones below.
THE DATA









Declarative




Diane smokes.

Interrogative



Does Diane smoke?

Imperative




Diane, smoke!

ALTERED CONDITIONS ON THE SEMANTIC THEORY
1.
Need to account for what is the same in each of the sentences (this is called the propositional content).
2.
Account for what is different from sentence to sentence (he accounts for this using the notion of mood indicator).
3.
Meaning must be a matter of truth conditions.  We can account for the meaningfulness of sentences if we create a theory that implies all meaningful sentences in the language, specifically, if it implies the true versions of all sentences of the form

Sentence S is true in L if and only if p

PROPOSAL

MOOD INDICATOR


PROPOSITIONAL CONTENT

Declarative




Diane smokes
Interrogative



Diane smokes
Imperative




Diane smokes
PROBLEM:  COMBINING THE PARTS
Each part has truth conditions.  The proposition “Diane smokes” has truth conditions.  
And the mood indicator has truth conditions (did she ask or not?  Did she command or not?  Did she say or not?)

If we were to combine these truth-functionally, the two items would have to produce something that also has truth conditions.  

But they do not combine to produce something that has truth conditions as a whole.  The sentence “Does Diane smoke?” does not have truth conditions.  (Think about saying “I disagree.” in response to it.) 

MODIFICATION
We need a means of combination that generates something that is neither true nor false, as non-declarative sentences are.

I am saying




Diane smokes.

I am asking.



Diane smokes.

I am commanding.


Diane smokes.

